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ljBfyL{ pknlAw k/LIf0f 
 
 
 
;ª\s]tfª\s 

 
 
 

sIff M * ljifo M ul0ft (M1-B) ;do M @ 306f 

ljBfyL{sf] gfd (Name of the Student): …………………………………………………………………………………………………………… 

 

ljBfnosf] gfd (Name of the school) : …………………………………………………………………………………………………………… 
 
 
7]ufgf (Address): ………………………………………………………………… ldlt (Date): …………………………………… 

 
 
5fq============== 5fqf =============== 

 
 
 
 
 
 
 
 
 
 
 
k|fKtfª\s ljj/0f -k/LIfssf nflu_ 

lg/LIfssf] ;xL 

 

k|Zg 1 2 3 4 5 6 

pQ/÷k|fKtfª\s       

k|Zg 7 8 9 10 11 12 

pQ/÷k|fKtfª\s       

k|Zg 13 14 15 16 17 18 

pQ/÷k|fKtfª\s       

k|Zg 19 20 21 22 23 24 

pQ/÷k|fKtfª\s       

k|Zg 25 26 27 28 29 30 

pQ/÷k|fKtfª\s       

k|Zg 31 32 33 34 35 36 

pQ/÷k|fKtfª\s       

k|Zg 37 38 39 40   

pQ/÷k|fKtfª\s       

 
 
 
 
 
 
 

k/LIfssf] ;xL ;Dk/LIfssf] ;xL 
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;a} k|Zgsf pQ/ n]Vg'xf];\ . 

-s_ ;xL ljsNknfO{ uf]nf] lrx\g (O) nufpg'xf];\ . [22×1=22] 
 
 

Encircle (O) the correct option. 
 
 
1. x sf] ju{sf] Ps ltxfOdf 5 36fpFbf slt x'G5 < 

What is the result when 5 is subtracted from the one third of the square of x? 

(a) x2 −  5 
 

(b)  1 
3 

 

(c) ( 1 
3 

 

x² – 5 
 
 
x)² – 5 

(d) 5 −    1 x² 3 
 
 
 
 

2. lbOPsf] lrqdf AB j[Qsf] Jof; xf] . 5fofF kfl/Psf] efusf] If]qkmn slt x'G5 <(π =  22 ) 7 
 
  In the given figure, AB is the diameter. What is the area of the shaded region? 

 
 

(a) 22 cm2 (b) 44 cm2 

 
(c) 

 
77 cm2 

 
(d) 

 
154 cm2 

 
 
 
 
 

3= 8f]Ndfn] 50 k"0ff{Ísf] k/LIffdf 40 c+Í NofOg\ . pgn] slt k|ltzt cª\s NofO5g\ < 
 
 

Dolma obtained 40 marks out of 50 full marks in an examination. What percentage of marks 

did she obtain? 

 
(a) 40% (b) 50% 

(c) 80% (d) 90% 
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4= ?= 500 nfO{ A / B sf aLrdf 2:3 sf] cg'kftdf afF8\bf A n] B eGbf slt sd kfpF5 < 
 
 

Rs. 500 is divided between A and B in the ratio of 2:3. How much less amount does A get than 

that of B? 

 
(a) Rs. 300 (b) Rs. 200 

(c) Rs. 100 (d) Rs. 10 

 
 
5. b2 + b + 1 / b4 −  b n3'Qd ;dfkjTo{ (n=;=) slt x'G5 < 

 

What is the Lowest Common Multiple (LCM) of b2 + b + 1 and b4 −  b?  
(a) b2 −  b + 1 (b) b (b2 −  b + 1) 

 
(c) b (b + 1) (d) b (b – 1) (b2 + b + 1) 

 
 
 
 
 

6. 500 gm / 1 kg sf] cg''kft slt x'G5 <  

  

What is the ratio of 500gm and 1kg? 
 
 

(a) 5:1 

 
 
 
 

(b) 

 
 
 
 

500:1 

  
(c) 1:2 

 
(d) 

 
2:1 

 
 
 
 
 

7. tn lbOPsfdWo] 50,000 sf] j}1flgs ;ª\s]t s'g xf] < 
 
 

Which of the following is the scientific notation of 50,000? 

(a) 5 × 103  (b) 5 × 104 

(c) 5 × 102  (d) 5 × 105 
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8. 5, 15, 20, 10, 25 sf] dlWosf slt x'G5 <  

  

What is the median of 5, 15, 20, 10, 25? 
 
 

(a) 10 

 
 
 
 

(b) 

 
 
 
 

15 

  
(c) 18 

 
(d) 

 
20 

 
 
 
 
 

9. ;dsf]0f ∆PQR df s0f{ (h) = 5 cm, cfwf/ (b) = 4cm 5 . nDa (p) sf] nDafO slt x'G5 < 
 

In a right angled ∆PQR hypotenuse (h) = 5cm, base (b) = 4cm .What is the perpendicular 
 

distance (p)? 
 
 

(a) 1 cm (b) 2 cm 
 
 

(c) 3 cm (d) 9 cm 
 
 
 
 
10. 3x −  4y nfO{ 5x −  y agfpg slt hf]8\g' k5{ < 

 

What should be added to 3x −  4y to make it 5x −  y? 
 

(a) 2x + 4y (b) 2x −  3y 
 
 

(c) 2x + 3y (d) 2x + 57 
 
 
 
 
11. ;lds/0f y = 7x −  9 df x = 2 eP y sf] dfg slt x'G5 < 

 
 

In the equation y = 7x – 9, what is the value of y when x = 2? 
 
 

(a) 5 (b) 23 
 

(c) 11 
7 

 

(d) 14 
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12. olb tkfO{FnfO{ ?= 600 sf] Pp6f lstfa lsGbf 10% 5'6 lbOof] eg] tkfO{Fn] ;f] lstfa lsGbf slt /sd 

a'emfpg' x'g]5 < 

 
If you are given a discount of 10% on the purchase of a book of Rs.600, how much should you 

 
pay? 

 
 

(a) Rs. 60 (b) Rs. 540 

(c) Rs. 590 (d) Rs. 610 

 
 
 
13. gS;fdf 1 ;]=ld=n] 60 ls=ld= hgfpFb5 . gS;fdf b'O{ :yfgx? A / B sf] gS;fdf b]lvg] b'/L 6 ;]=ld= 5 . 

tL b'O{ :yfgx?sf] jf:tljs b'/L slt x'G5 < 

 
On a map, 1 cm represents 60km. The distance between two places A and B is 6 cm on the map. 

 
What is the actual distance between these two places? 

 
 

(a) 10 km (b)   54 km 

 
(c) 

 
66 km 

 
(d)   360 km 

 
 
 
 
 

14. lbOPsf] lrqdf 5fof kf/]sf] efun] ;d"xsf] s'g lqmof hgfpF5 < 
 
 

Which set operation does the shaded part represent? 
 

(a) A∪B (b) A∪B 
(c) A∪B  (d) A∩B 

 
 
 
 
15. 8, 10, 11, 12, 14 sf] dWos slt x'G5 <  

  
What is the mean of 8, 10, 11, 12, 14? 

 
 

(a) 10 

 
 
 
 

(b) 

 
 
 
 

11 

  
(c) 12 

 
(d) 

 
13 
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16. ljGb' A (3, 3) nfO{ 2 PsfO bfofF / 6 PsfO tn lj:yfkg ubf{ x'g] lgb]{zfª\s s'g xf] < 
 
 

Which of the following is the image of the point A (3, 3) after translating 2 units right and 6 
 

units down? 
 
 
 
 
 
 

(a)      (5,-3) 

(b)      (5, -9) 

(c)      (-5, 9) 

(d)      (-5,-3) 

 
 
 
 
 
 
17. tnsfdWo] s'gn] cleJo~hs 3a2 – 48b2  sf u'0fgv08x¿ b]vfpFb5 ? 

 
 

Which of the following represents the factors of expression 3a2 – 48b2? 

(a) 3 (a + 4b)2  (b) 3 (a −  4b)2 

(c)      3 (a + 4b) (a – 4b)                                    (d)    3 (a + 16b) (a −  16b)  
 
 
 
 
 
18. 2 jif{sf] nflu 10% k|lt jif{sf] ;fwf/0f Aofhb/df ?= 5000 nufgL ubf{ Aofh /sd slt x'G5 < 

 
 

What is the simple interest on Rs. 5000 for 2 years at the rate of 10% per annum? 

(a) Rs. 100 (b) Rs. 500 

(c)      Rs. 1000                                                   (d)    Rs. 1010 
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2 

19. B (2,7) / C (−2, 3) aLrsf] b"/L slt x'G5 < 

What is the distance between the points B (2, 7) and C (−2, 3)? 

(a) 4 units (b) √2 units 

(c) 4√2 units (d) 2√4 units 
 
 
 
 
 
20. cfoftsf/ ;txsf] If]qkmn kQf nufpg] ;"q s'g xf] < 

 
 

Which is the formula of finding the area of a rectangular surface? 
 

(a) A = nDafO + rf}8fO (b) A=  1 
 

A= length + breadth A=  1 
2 

-nDafO × rf}8fO_ 
 
 
(length × breadth) 

 
(c) A= 2 -nDafO × rf}8fO_ (d) A= nDafO × rf}8fO 

 
 

A= 2 (length × breadth) A= length × breadth 
 
 
 
 
 
21. lbOPsf] hf]8L lqe'hx? s'g tYosf cfwf/df cg'?k 5g\ < 

 
 

By which axiom are the following triangles congruent? 
 
 

a. ;=s=e"= (R.H.S) b. sf]=e"=sf] (A.S.A.) 
 
 

c. e"=sf]=e"= (S.A.S.) d. e"=e"=e"= (S.S.S.) 
 
 
 
 
 

22. lrqdf x sf] dfg slt x'G5 <  

  

What is the value of x in the given figure? 
 

(a) 70° 

 
 
 
(b) 

 
 
 
110° 

 
(c) 180° 

 
(d) 250° 
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-v_ vfnL 7fpFdf ;xL pQ/ n]Vg'xf];\ . [5×1=5] 
 
 

Write the correct answer in the blank spaces. 
 
 
23. olb Pp6f k;n]n] 70 lstfa k|To]ssf] ? 50  df lsg]/ 60 sf b/df a]Rof] eg] p;sf] hDdf gfkmf 

 

?= =================================== x'G5 . 
 
 

If a shopkeeper bought 70 books at Rs 50 each and sold them at Rs 60 each, the profit amount 
 

is Rs …………………………… 
 

24. lbPsf] lrqdf ∠AOD sf] ljk/Lt zLif{led'v sf]0f =================== xf] . 

In the given figure the vertically opposite angle of ∠AOD is ………………………… 
 
25. tLgcf]6} e'hfx? a/fa/ ePsf] lqe'hnfO{ ======================================== elgG5 . 

 
 

The triangle having all sides equal is called =============================================== 
 
 
26. tLg kbLo cleJo~hs 2x2 + x4y + y3  sf] l8u|L ========================================== x'G5 . 

 
 

The degree of the trinomial expression 2x² + x4y + y³ is ………………………… 
 
 
27. Pp6f 3gfsf/ a6\6fsf] e'hfsf] nDafO 8 cm 5 . pSt a6\6fsf] cfotg ===================== 3g ;]=ld= x'G5 . 

 
 

The length of a cubical box is 8 cm. The volume of the box is …………………… cubic cm. 
 
 
 
 
 

-u_ tnsf k|Zgx?sf] pQ/ lbg'xf];\ . Answer the following questions.  

 

28. 
 

17 nfO{ låcfwf/ ;ª\Vofª\sg k4ltdf abNg'xf];\ . Convert 17 into binary numeration system. 
 

[1] 
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29. Pp6f a]ngfsf] hfnL lrq agfpg'xf];\ . [1] 
 
 

Draw a figure of net of a cylinder. 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
30. c;dfgtf 5x −  4 ≥ 16 nfO{ xn ug'{xf];\ . [1] 

Solve the inequality 5x −  4 ≥ 16. 
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31= lbOPsf] lrqdf AB//CD / ∠GHD = 70° eP / ∠AGH  sf] dfg kQf nufpg'xf];\ . [1] 
 

In the given figure, AB//CD and ∠GHD = 700, find the value of ∠AGH. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
32= ljGb' A (4, 0) / B (0, 3) aLrsf] b'/L kQf nufpg'xf];\ . [2] 

 
 

Find the distance between the points A (4, 0) and B (0, 3). 
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33. xn ug'{xf];\ . (Solve) [2] 
 

  x–2   
x+2  = 

  4   
3 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
34. lbOPsf] lrqdf 5fof kf/]sf] efusf] If]qkmn lgsfNg'xf];\ . [ 2 ] 

 
 

Find the area of shaded part in the figure. 
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35. s'g} Pp6f ;ª\Vof csf]{ ;ª\Vofsf] bf]Jj/ 5 . olb ltgLx?sf] of]u 30 eP tL ;ª\Vofx? kQf nufpg'xf];\ . 
 
 

A number is twice of the other number. If their sum is 30, find those numbers. [2] 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
36. df]xgn] Pp6f Nofk6k ?= 42,000 df lsGof] . olb p;n] 15% gfkmf u/L pSt Nofk6k a]Rof] eg] ljqmo 

d"No slt xf]nf < Mohan bought a laptop for Rs 42000. If he sold it at a profit of 15%., what is 

the selling price?                                                                                                                     [2] 
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37. ;/n ug'{xf];\ . (Simplify): [2] 
 

x² + 6x + 9 
x² – 9 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
38. /fh'n] dfl;s ?= 24000 cfDbfgL u5{g\ . pgn] cfkm\gf] cfDbfgLaf6 20% vfgfdf, 25% lzIffdf / 10% 

 

cGodf vr{ u5{ eg] dlxgfdf slt /sd art u5{g\ ? [2] 
 
 

Raju earns Rs 24000 per months. If he spends 20% of his income on food, 25% on education 

and 10% on others, how much rupees does he save in a month? 
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39= ;/n ug'{xf];\ . Simplify: [3] 
 
 

80 ÷ 4 [ 400 ÷ {7 + 3}] 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
40= ;dfg Ifdtf ePsf 10 hgf dflg;n]] Pp6f v]t 2 lbgdf vGg ;S5g\ . a/fa/ ;do sfd ubf{ pxL Ifdtfsf 

 

4 hgfn] pQm v]t slt lbgdf vGg ;S5g\ < [2] 
 
 

10 people of can dig a field in 2 days. In how many days do 4 people of the same efficiency, 

working the same time in the same field can dig the field? 
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